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1. Achilles tendon is present in the 1, Pk HUE i, ﬁ'@z Bt
(A) Chest 4
(A) Bl
(B) Hand
(B) &%
(C) Ankle ©) 3
(D) Thigh (D) g
2. Stress fracture is associated with 2. ™ PF ........... 7 3 |y g3
........... sports gen d
(A) Running @A) s
(B) dt@de dfa
(B) Basket ball .
(C) =fifes
(C) Badminton ' ©) et
(D) Handball
3. Bone having crack is called. 3. IR T P el AT 2 |
(A) Strain Q) ¥
(B) Sprain (B) 1:'5}:[
(C) BFR

(C) Fracture
(D) ST # ® Hg &
(D) None of the above

4. A bone having multiple cracksis 4. & R A iy F T oar 2

called (A) PP e
(A) Compound fracture (B) & i+
(C) dfes sifen

(B) Simple fracture
(D) sifem rfeersin

(C) Green stick fracture

(D) Complex fracture

4753(B)-Series-Q (1)
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Patella is a part of
(A) Hip

(B) Shoulder
(C) Knee

(D) Elbow

Most of the time, tennis elbow is

occur in the games
(A) Racquet sports
(B) Football
(C) Running
(D) Jogging

Cold immersion is a ............

therapy.

(A) Hot water

(B) Ultra Violet rays

(C) Cold water

(D) None of the above

Infrared rays is ............ therapy.
(A) Sound

(B) Rays

(C) Water

(D) None of the above

(2)

5.

6.

qon few 2 d
(A) Fee ®
(B) &8 #

(C) A &
(D) Fe F

sftis gya, 2 o @ o d A
3

(A) @ @

(B) g

©€) A3

(D) it

(C) gt
(D) IgiEd ¥ | 3 T
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In contrast bath we use 9.
(A) Cold water

(B) I_-[ot water

(C) Both (A) and (B)

(D) None of the above

Green stick fracture commonly 10.

occurs in

(A) Babies

(B) Adults

(C) Old age

(D) All of the above

Which of the following is a False 11

statement about ergogenic aids ?

(A) They are substances intended
to enhance  athletic
performance

(B) They have been used for
many years '

(C) They have all been proven to
enhance performance

(D) They are popular among
athletés hoping to find an

edge over their compitition

(3)

Rrada &1 F &9y g3 3
(A) 3TV T

@) ™ T
(C) A (A) R (B)
(D) IT0F & A 3 7

AR W IH Res Baae 2 2
(A) fggatt A
(B) aqwH §

(C) {cﬂﬁ
(D) IUTTF gt |

. frefafae 4 8 aF-w F99 RAfTs

TgH & AR ¥ o 7

(A) 2 RS Tyl & T & IRW
I W 2

(B) %= Iwdm &€ a5t @ Rear on @
g

(C) 3 oft =9 & Fo & fom R
g3

D) 3 urelst @ 99 g & St
AT gfreqyt # @od 9 =R
R E
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12. The type of sports imuric* an 1299 9 b T R 2
' A) 2
(4) 2
(B) 3
B) 3 ©
©) 4 o) s
(D) 5
13. The percentile of overuse chron 13. 90 o e et o v 2
injuries is (A) 17%
(A) 17% B) 20%
(B) 20% (C) 23%
(C) 23% D) 30%
(D) 30%

14. Which is not the aim of RICE? 14, 3.9 RIC.E. @ 3w & 8 ?
(A) W W& H A 3 T

(B) TF A 9@ 3 fa
(C) © 39 F1 3 g
(D) et i Afashiorar & I 3 frg

(A) To stop blood flow
(B) To prevent from swelling
(C) To reduce pain
(D) To stop mobility
15. The two great dangers of wounds 15. udl & & 92 @al &

are (A) EE AR FHIT

(A} Bleedingand infection (B) & M g

(B) Pain and swelling (C) e 3R FHw

(C) Shock and shivering (D) T 3T FaH H THAM

(D) Burning and loss of tissue

4753(B)-Series-Q (4)
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16, aEaEt # fEE B s am

16. The technical name of muscle pull

is (A) T
(A) Sprain (B) M
(B) Strain (C) Tdm
(C) Abrasion D) T

(D) Contusion -
RICE. 3 C# 34 2

17. In RI.C.E,, the C stands for 17.
(A) Composition (A) FHISHIE
(B) Construction (B) HEHH
(C) Compréssion ©) FAIE
(D) Compound D) FATS

18. Injuries in the muscles are called  18. H@URM@l & gl T4 F F&1 71 2

(A) Sprain | (A) HA=
(B) Muscle pull (B) wigus e
(C) Strain (C) A
(D) Contusion D) T
19. The application oficeiscommonly 19, % F I AR W FF WX &
used in the type of injury Qe dAae?
(A) Soft tissue injuries A) T T A
(B) Bone injuries (B) @ ® 9r
(C) Jointinjuries ©) N A ¢
(D) All of the above (D) ITAT |
4763(B)-Series-Q (5)
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Crrotherapy is also known as
A} Ice therapy

(B Cold therapy

Oy Both (A) and (B

(DY Neone of the above

. Newton's third law of motion

represents

A mf = m f,
(B) oy, =myv,
(G fx, = fv,

(D) mu =mu,

In which law of motion. the change
of speed of an object is directly
proportional to the force ?

(A} First
(B) Second
(C) Third
(M) No one

The factors on which strength
depends

(A} Muscle cross section
(B} Muscle fibres

(C} Co-ordination

Dy All of the abgve

(6)

20. TR R} I I 2

A) T fafem
B) =T Fhm
(©) [ ) #H B
D) e § 3 7

. A 3 R @ A R @ AR

&

(A) mf = mf,
(B) myv, =my,
©) Ly, =1y,

(D) mu, =m.u,

. i R P 7, et g & Y &

WRedT ¥ 3 HY SR o 2 7
(A) w&ar
B)
(€ dwa
D) ¢ 7@

23, A I @ R Prf a2

(A) wiadd = dm
(B) wwddt o=
(C) ww=m

(D) 907 &
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‘Fartlek training’ 1s used best tq
develop

(A) Flexibility

(B) :Strength

(© Endurance

(D) Speed

Fartlek training was first devised
and adopted 1n

(A) USA

(B) Sweden

(C) England

(D) Switzerland

‘Active flexibility’ refers to

(A)

Muacular streteh without

assistance

(B) Muscular stretch with
assistance

(C) Stretching at maximum
range

(D) None of the above

Leg strength can be best improved

by

(A) Highjump
(B) Depthjump

(C) Chinups
(D) Pushups

()

24.

25.

26.

3% 3N e GEme oS 2
R IGE

GEas o & W& @ Yo
A FATT T

(&) 1w 3

B) s d

(C) == 3

(D) Ragawdws

gheT FdE & o 3

(A) TBRET @ B o dedt 3 Riam
(B) TRl & A/ Sin e 8 999
(C) IR dF1 W §iES

(D) ST ¥ & /R =

. 4 A ohe =R @ TR I R
2

A) IR F
(B) W F|
(C) RB= am

(D) quoTw
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 enablesa 28 TR v <t e e A o W

28. Physical abulity whic

- bods T A R A Rafy o Rean @ a6
person rapidly chang® | % e H T o B
position and direction ina precise :
manner is called (A) =y
(A) Speed (B) wgwa
(B) Balance € wwam
(©) Co-ordination (D) =
(D) Aglity
99. The least method to develop 29, Tl ) fomfem FTT @ wad o=
flexibility is fafey &
(A) Ballistic method (A) s Rfo
(B) Slow method B) i [
(C) Slow streching and holding (C) drit My & B AW IW A
method fat
(D) Relaxation (D) Fw Ry

30. Sprinting speed isleast developed  30. Ryf¥m @iz ged s q@ A AHkT

through a2

(A) Interval training (A) ot i
(B) Weight training (B) R AR
(C) Continuous training (C) @A Ere
(D) Al of the above (D) = 7R

4753(B)-Series-Q (8)
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31, The study of the joint ig ca|joq

32.

33.

34.

4753(B)-Series-Q

(A) Orthology
(B) Osteology
(C) Cardiology
(D) Myology

Which muscle is also knowq a5

lifter muscles ?

(A) Deltad

(B)' Latissimus doxs:
(C) Sartorius

(D) None of the above
Supination and pronation are the
motions of which joint ?
(A) Tibia-Fibula

(B) Carpal-Metacarpal
(C) Radius-Ulna

(D) None of the above

The motion of an object in a

straight line is called
(A) Translatory motion
(B) Rotatory motion
(C) Curve motion

(D} Angular motion

(9)

31

32.

33.

34.

Ardt F ADUT T} FA A 2
(A) it

(B) Hffezartr

(C) FEaEt

(D) Tt

i Srr AT 8 7

(A) SRES

(B) afefamg Zw

(C) wRgs

(D) i 7 B I
€7

(A) Ffem-fega

(B) FiR-Rerama

(C) Wegq-arem

(D) Jo ¥ & I T@
o Grit Yan R, @ o F R F=
A 2

(A) TN i

B) W Ty

(C) = fa

(D) Frfrg ofq
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For an object to be balanced, all
the force acting on it must be equal

to zero

(A) Law ofinertia

(B) Law of acceleration

(C) Law of reaction

(D) None of the above

The meaning of extension is

(A) Increased angle betweentwo

bones
(B) Rotation on the joint

(C) Decreased angle between two
bones

(D) No movement between two
bones

Abduction means

(A) Movement of arm close tothe
body

(B) Movement of arm away from
body

(C) Turning movement of arm

(D) Joining movement

(10)

35.

36.

37.

Pk o 3 agd g P MU ST
mmq@maﬁgﬂ%mﬁﬁ

Rl

(A) ¥« F [HEA

®) @ @ Haw

(C) afterar @

D) s 3 A B T
e F o @

(A) A syl & @ig 27 B T
B) a4 w g9E

(©) & sfed @ @i I @ T

D) @ aftrdt & dra &% sFTA H A
B

TSR | o 8

(A) w1 & I 3 @ A1 F
I GPERER]

B) 79 A A TWI T F
o /gaq

(C) & & qgm
(D) 8 & M/
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98.- Find the unit of force in given  38. T M et & & 90 7 w0

options iR
(A) meter/second (A) . /4.
(B) newton (B) A
(C) Both (A) and (B) © (A) A (B) =t
() None of these D) @ A 3
39. The acccleration of any object is g  fpeht o @ & @7 94 3 qEE WA
zero, 1t means "

2
(A) TE AW g i 2
(B) 3% 9911 7 A 77 7 2
(C) &4l (A) #7 (B)

(D) 74 3 |} 7

(A) The object is in resting state
(B) The object is moving at the
same speed
(C) Both (A) and (I3)
«D) None of these

40. Bicep muscles are helpful in 40. 9=HT FaUEE 42 7
(A) Flexion of elbow (A) Pl B FAeET |
(B) Abduction of arm (B) @™ ® U=gs 3
(C) Adduction of arm (C) ¥™ 3 w2es 3
(D) Extension of ilbow (D) T & A 2

41, The formula of median when data 41, 37 ftd B3 W qiEw 7 W 2
15 grouped '

_ i
't A) M= &>
@) M= Z\:" (A) N
(2 -]
. o2 L
(B) Mdn=1+ Hl"r‘n dar (B) Mdn*L+§ = |i
©) M= 2X © M= ;x
N N
.__Q —QI Yy
4"?5"3(13)-591‘ieS-Q (11)
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The formula of mean when data 18

grouped
_ L&
(A) M= N
-
(B) Mdn=L+|"—|i
_2X
(C) M= v
]
(D) Mdn= o

2

-

The formula to calculate Median
when data is ungrouped |

N4

(A) Mdn=

T
| Z
|
A

(B) Mdn=L+

i
fromrm——

I
; g
2[3 =N

) M

O M

(12)

42. 3o w7 T A § G P

_ oLk
(4) M=%

B) Mdn=L+

= 2X
© M=%

N+l
(D) Mdn= —

43. gamwa%mmm@%

https://www.ccsustudy.com
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44. The formula ofmean “heﬂdat.als 44, 2T mﬁ%ﬁ W My g = g

ungrouped _ N+l
Nl (A) Mdn==-
(A) Mdn= ==
N )
N _ 2
_ —z-vf- (B) Mdn=L+| g, 1i
By Mdn=L+| g7
L ((/) M= __Z_X
(€ M=4<=
N fo
fo (D:' =T

45. Whichoneis notthe qualityoftest  45. @F-81 Tigw R 519 i e T

and measurement ? 37
(A) Reliability (A) e
(B) Validity (B) dum
(C) Objectivity (C) FEgfrem
(D) Expensive D) wd
46. Sample statistics are denoted by 46, I wifed 2 Frefm B o 2
the
(A) Upper case greek letter (A) % A ol }
(B) Roman letter (B) W% i B
(C) Associated Roman alphabet (C) wwafaa qAu avivwn |
(D) Lower case Greek letter D) 8k @5 ot ]
4753(B)-Series-Q (13)
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In statistics ous of 100. WA*

= » A5
21 students in final exams ar

.‘

90 . 95. 95. 94, 90. §5. §4.

l'h
L-:l
%

tn
L8]
(=]
[ 1}

81. 92. 93. 82. 78. 79. 81. %
76. 85 then ‘mode’ of data 1
{A) 85
B) B
(Cy 90

(D) 81

If the standard deviation of 2

population 15 9(Nine), the

population variance is
(A) 9
(B} 3
() 21
D) 81

Which of the following 15 not a

measure of Central tendency ?
(A) Percentile

(B)
()
(D)

Quartile
Standard deviation
Mode

ks of

47.

48.

49.

(14)

100 5 & 3, #hwfmﬂm'sﬂ‘i#

X

*'?QO 95939490_,53_‘533

So 31 9.»: 93, 82, :8 r9 81, 82,
§3. cs,goaa%aa:ra@%e

(A) 85

1

B) 95
€ 9%
(D) 81

IR FEE @ qes R (1) 3, @
(A) 9
B) 3
(C) 21
(D) 81

Preifeia 7 @ 39 =7 w3fa 31 T
T & 7
(A) 9%

B) =gai®
(C) 9% faae™

D) Tw
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50. -The middle value of an ordered

51.

52,

53.

4753(B)-Series-Q

array of numbers is the
(A) Mode

(B) Mean

(C) Median

@) Mid Point

A Rehabilitation programme

consist of how many stages ?
A) 4

®) 3

C) 2

@ 1

Wax bath is also known as
(A) Hydrobath

(B) Steam bath

(C) Paraffin bath

(D) Sauna bath

Lordosis is a

(A) Spineinjury

(B) Shoulderinjury

(C) Leginjury

(D) None of the abave

50. WEHA ¥ FNAT AT 4 U@ w R

51.

a92.

(15)

(A) 9EF®
®B) A
(C)
(D) A B

@& G B § BA a2 3
(A) 4
B) 3
(© 2
D) 1

A EF 3 I AN B 0 T I3
(a) =R T

(B) T EH
(C) ¥l &=
D) @1 &=

. wisifa @

A) R 3 a9k
(B) 3 it Tz
(C) W F 9w
(D) IR & § ;A T
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54. Mg ¥ q7|
54. Sprainis ... injury-
( (A) svlg a@te
A) Unexposed injury
®B) it [
(B) Exposedinjury .
(€) fz & 9
(C) Spine injury
prae D) 72 & e
(D) Shoulder igjury
55. Fractureisa ........... injury- §5. Faay (LG R - a4
(A) Exposed (A) geh
(B) Unexposed (B) avsisng

(C) 2t (A) a (B)
(D) Iqdza o A AL Tw

(C) Both (A) and (B)
(D) None of the above

56. What are the bandages’ 56. feyr 71 § ?

(A) ugw @ B Fa & & [
(B) #erpsdt @ T4 3 T

(C) AT (A) a4 (B)

(D) AT ¥ § A T

(A) To cover the injured part
(B) To protect from germs
(C) Both (A) and (B)

(D) None of the above
57. What are the physiologicaleffects  57. W & ariia Brqr 9T &1 yvE & ?

of massage ? A) i i g
(A) Increasc circulation ®) TR @
(B) Relax the muscle ©) R B AW
(C) Relaxthe body ) e w

(D) All of the above

4753(B)-Series-Q (16)
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60.
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What is cold therapy 2

(A) Use of rays
(B) Use of heat
(C) Usoc of ice

(D) Use of water

(A) Scoliosis

(B) Kyphosis
(C) Lordosis

(D) None of the above

Sprain ig & ............ type of injury.
(A) Bone

(B) Tendon

(C) Ligament

(D) Muscle

Blisters are found on the

(A) Skin

(B) Bones

(C) Ligaments
(D) Tendons

(17)

59.

60.

61.

58. e FafEen 7@ 2 2

(a) BT B T
By ™ & THEm

(C) T & I@m

D) T B I

768 A5 B T T 2
(A) AN

(B) FITEIEH

(C) wrEifm

(D) 90 K & B
T ............ AT T WO T
(A) &=

(B) &=

(C) RFm=

(D) =

Bl QT S 2 |
(A) & w®
B) 3 W

(C) iR &
D) Fo=udt
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64.
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oot B
: 11-]
Who said “Recreatio® =

matter of motions but 017
(A) John Huizinga

(B) Ramney

(C) Joseph Lee

(D) John Dewey

. a

The most important factor !
.. :om 15

organization for recreatio®

(A) Materials

(B) Leadership

(C) Facilities

(D) Planmng

The recreation process 15 related
with

(A) Saving money

(B) Socializing

(C) Happiness

(D) Having fun

Which of the following includes

commercial recreation ?
(A) Theme parks

(B) Attractions

(C) Clubs

(D) All of the abave

62.

63.

64,

65.

(18)

FEar gy o P “TAITHA 39 0K 3
qF WA 277

(A) A ggam

(B) =

(C) 7w #

(Dy #t= %2

FE 2

(A) =g

(B) 7=

(C) R

(D) a=

wiiaa sfaar R gwafea 2 7
(A) W ¥ F=4

(B) @

(C) g
(D) T FA H

Pr=fafas § @ Read aftfeasd T
i & 7

(A) 4 @
(B) Bt
(C) &

(D) ST M
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Characteristics of Tecreation jg/
are

(A) Leisure time yge
(B) Self-satisfaction
(C) Accepted by society
(D) Al of the above

The word Leisure is derived from
(A) Lacer

(B) Lesser
(C) Licer
(D) None of the above

Which one is not the value of
recreation in the given options ?

(A) Happiness and Satisfaction,
(B) Creativeness
(C) Social adjustment

(D) None of the above

Choose the correct motor reaction
In recreation time

(A) Shake hand
(B) Hand Clapping
(C} Audible response

(D) All of the above

(19)

67.

68.

69.

§6. T $ T 7

(A) m%mam

(B) ®-Hgfe
(C) @M z10 & B
D) ITAF i

Leisure € 3 3Ry BF 9= A §'§
27

(A) @7 (Lacer)

(B) R8T (Lesser)

(©) frat (Licer)

D) I T & 3 8
Ru 1 el & ] d-wr TieT =1
Td T ¢ 7

(A) g A Hqfe
(B) TawTHRAT

(C) v aamdor
(D) 359 F 4 A T

TR $ § A Aex wRRE B 93
(A) g P
®) it s
(C) == sfefea
(D) IdTw |t
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=

No rejationship by €

indicatec

Ar 100

Dy -100

 SrprtVE
Circurt trarming 1s an eiect
method for developing
(Ar Speed

Flexablity

A o

Strength enduranos

.

metrics 18 2180 cailed 72.

Pivo
‘A} Reflex phenomenz

B Rezctive jumps

() Aglity training

(D All of the above

The exercise with lower intensity 73.

rescits in the improvment of

‘B Endurzrce

-3 £
i \-"'"_-.ﬂ‘p
- IR g A 1
i - 1
e
-;‘..(. T
- —

( 20}

70. ma‘.vz'armm#z'i-ma

f.'\} 1.00)
(B) 0.50
(C) 0.00

(D) -1.00

(B) 7f e &=
(C) I Tiaga

(D) 297 A4
FH TS I AW, ... T J4¢
4 wEgE %)

(A) FEaRA
(B) AmA
(Cy =fa
(D) @4
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=4 The ability * 5e . gor 3
74, 1 perfory, “ith g TR 7 W 2 oy Fa 2 oo ooy
;pecrf under f;r;nrj”;,m oA § i i s
‘13 FIA 2 AR
(A) Speed enduran,, . )
. | (A) ™A FEEFm
(B) Explosive strenmp, .
o (B) FEETE e
(C) Strength endurane,. i
at {C) ?"3{: --,.3'3 7T
(D) All of the abaye . .
' (D) T3 &=
75. Find out the types of fley;p, ., 75, FFH 3 =7 7=
(B) 3 (By 3
C) 4 (C) 4
Dy 5 Dy 5
76. The ability to do spons 76, 7w & 7 3 == 2% rm v
movements with desired qualipy Az IR e~ T E IS F v
and speed. under the conditiog of (A) =
fatique A)
(A) Speed )

(B) Endurance
(C) Both (A) and (B)
(D) None of the above

77. Aim of the sports training is 77. S AV = TR 2
(A) Improvement of physical (A) ifrE =33 2 owv
fitness . .
ness (B) 3= a9 3 I
(B) Improvement of technical
_.p ! (C) =mfrs 3w ¥ o7
skills ?
ma' w
(C) Improvement of tactical (D) &= | & g
efficiency

(D) Improvement of sports

performance
4753(B)-Series-Q (21)
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78. Speed play ie also knowh o
(A) Weight traininf
(B) Prespurc trainint
(C) Fartlek training
(D) Interval trainming
79. The best season for 010§ Fart
training’is
(A) Racing season
(B) Transition period
(C) Competition period
(D) Off season

80. In Endurance training ifmfﬂf‘ﬂiﬁ'
is maximum then the heart rate ¥l

(A) Morethan 1680
(B) More than 160
(C) More than 140
(D) More than 200

81. Rectus femoris muscles are helpful
in
(A) Flexion of Knee
(B) Flexion of Hip
(C) Extension of Hip
(D) Extension of Knee

4753(B)-Series-Q

(22)

78.

80.

81.

e~ F @ T A A Sy s
() T wfererer

Frécts 2T B T BIH 3BT ey &
&) &5 @ o

(B) THHYT FTA

(C) sfrafar &

(D) 3% H&

e sfaror & afd dEal rftEay
2 o &g iy et
(A) 180 & Y%
(B) 160 @ AfqF
© 140 8 A=

(D) 200 & %
¥ PARY AR gEEe B E

(A) 723 & R
(B) FR 3 wWeET q

(C) F= & waEeyw &
(D) e ¥ qFgam

https://www.ccsustudy.com



https://www.ccsustudy.com

82.  .#No net force acting on the body

83.

84.

85.

4763(B)-Series-Q

and body remains in its positigy”

waa stated by

(A) Aristotle

(B) Newton

(C) Galileo

(1)) Rousseau

Qravitational force was discovered

by
(A) Anstotle

(B) Newton
(C) Galilio

(D) Rousseau

The word ‘Kinesis'is a term

(A) English

(B) Latin

(C) Roman

(D) Greek

The stability of any object depends

aon

(A) Height of C.G.

(B) Structure of an object
(C) Weight of an object
(D) Length of an object

82,

83.

B4,

85.

(23)

regrity qx e W 7w @rd & F @A
M e (7)) awh Rty ® OB W@
gy 61 T 7

(a) T

(B) =

(C) hefifear

D) &a

AR oW Gt fead A
ot ?

(A) FF

B) =g
(C) iferdy

............

(D) Hi=w
et +t avg # feae ffy i ?

(A) WP Fad w
(B) % a¥g @l d9W W
(C) Hl ag 3 TR @
D) R g B 7= W
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86. dchem @7 iR A A B A ey

86. Sagittalplane dividesthe bedy!nto ag
halves. they are o o
(A) Frontand Back
(B) Posterior and Anterior (B) qﬁ. 3l gﬂ
(C) Right and Left (C) @ aﬁ',r. a
(D) Upper and Lower (D) st o Pas
§7. Law of counter force is alsokno®™ 87. ::1?; T & g @ 3 B o

as
T T
(A) Newton's third Jaw (A) e

(B) Newton's second law (B) T F gHU faw
{C) Newton's first law (C) e ® Yeall fraw
(D) Iiw F 8 7

(D) None of the above
88. GdeM T (sawa) &t 2

88. Protraction movement takesplace

in the (&) FR & e 7
(A) Hip joint (B) ¥4 & @iz o
(B) Shoulder joint (C) P 2 AT H
(C) Elbow joint (D) gt 3 Ag A
(D) Knee joint
89. The frontal planeisalsoknownas 89, %<9 a @) 38 99 4 6 571 51 &
(A) Longitudinal plane () drfiggea @
(B} Coronal plane (B) e oW
(C) Vertical plane (C) aftaw aq
(M) Lateraiplane (D) & 7
4743(B)-Series-Q (24)
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90.

91.

92.

93.

4763(B)-Series-Q
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ripping the head forward g 41,
example of

(A) Rotation

®) Circumduction

(€ Flexion

D) Extension

Biomechanics is the study of

(A) Disease of human bones

(B) Mechanics of human motion

{(C) Blood flow in human body

(D) Nature

The study of the muscles is called
(A) Cytology

(B) Anthropology

(C) Mvyology

(D) None of the above

Newton’s second law of motion is

called

(A) The law of action and reaction
(B) The law of gravity

(C) The law of acceleration

(D) The law of inertia

(25)

9. Ryr 3 @ B A7 g PR FAE

2

(A) T
(B |FAHH
(C) qAFs
(D) wwem

. e s 2

(A) T & B T W
(B) THq Ty # A W

(C) T TR A A 2 @R &

(D) S

. ARl 3 HeEE ® EE A 2

(A) wRRS

(B) JRwH
(C) T

(D) i 7 & B =

. e 3 1 3 7R PR 3 = 9E 2

(A) Fem o vk & ew
B) o & FEw

(C) & &= AW

(D) #FF@ H AW
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94. The scapula boneis jocated at

85.

97.

4763(B)-Series-Q

(A) Leg

(B) Hip

(C) Upper back

(D) Hand

Example of hinge joint is

(A) Hip joint

(B) Elbow joint

(C) Anklejoint

(D) None of the above
Newton’s third law of motion 19
(A) Rule of action and reaction
(B) Rule of acceleration

(C) Law ofInertia

(D) None of the above

The plane which divides the body
into two parts, right and left

(A) Frontalplane
(B) Sagittal plane
(C) Horizontal plane

(D) None of the above

9. Wmmmmmmm

95.

96.

a7.

(26)

GV

(B) fm

(C) &l de

(D) #™

oK wha # IAE €
A) T2 AN

B) e @ &

(C) T #H w

D) i q ¥ T
ﬂgﬂ@ﬁﬂ?ﬁﬂﬂﬁﬂ?
(a) B o sber 3 P
®) @ @ Fa

(C) @ @

(D) I A & B T

2 ad ot 7k @ A °°f F AL,
I SR 9N

(4) W o

(B) e &

©) AR

D) 3 7 8§ #iY 7
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98. *If the baso of an ghjey ;, |
then stability wi)) pe Ee 98 ot o o 1 e g & A e
(A) High g
Ay I=A
(B) lLow
(By am
(C) Verylow
(C) aga ¥
(D) None of the abOVe (D} m ﬂ % ég T
99, \Wchufthefo]lowingisabanand 99, Preiffg ¥ 4 & & A dEa
socket joint ofa ¢
{A) Shoulder joint (A) %8 J A
(B) Hip joint B) T@ H A3
(C) Both (A) and (B) (C) A (A) AR (B)
(D) None of these (D) 4 | I &
100. The vertical axis passes through 100. F@EET I ............ H T g
(A) Perpendicular to the ground () oofts @ oEad
(B) Horizontal to the ground (B) wwiw 3 AR
(C) Both (A) and (B) (C) A (A) 3R (B)
(D) None of these (D) 9 8 3 &
4753(B)-Series-Q (27)
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